
 
 

 

 

 

Fitting 

Instructions 

 
TOWBAR 

For Skoda Fabia 2 
Hatch and Estate 

 

 

SK22A 

MATERIALS 
A 1 Cross Bar  
D 4 M10 x 35 x 1. 5mm Bolts, Lock Washers and Flat Washers (40mm O.D.) 
E        1        ZEP35 Electrical plate (not shown) 
CB 2 M16 x 50mm Coupling Bolts, Nuts, Lock Washers 

FITTING 

 

1. Remove bumper (4 screws on lower edge, 2 screws beneath light cluster (remove light clusters), 1 tip screw and 3 wheel 
arch screws.). Remove bumper inner beam and pass on to customer. (refit bolts to rear panel) 

2. Insert Cross Bar (A) inside chassis and loosely attach to existing side mountings (remove tape covering holes) using 
Bolts (D) with Flat Washers. Fully Tighten Bolts. 

3. Locate centre of bumper and cut as shown below.  
4. Refit Bumper, 
 

Note: This towbar must be used with either a Witter Towball (part number Z11) or Class A50-1 or A50-X towball 
dimensionally Conforming to A50-1 with a ‘D’ and 'S' value greater than or equal to that of the towbar. 

Please refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 
Recommended torque settings: M10 - 53 Nm, M16 - 214 Nm 
 
 
 
 

 
 
 
 
 
Witter-towbars.co.uk Issue 1 

 

µW0001SK22A-FIT$011103170000OÄ
W0001SK22A-FIT$011103170000



 
 

 

 

 

Notice de 

montage 

 
ATTELAGE 

Pour Skoda Fabia 2 
5 portes et Breack 

 

 

SK22A 

MATERIEL 
A 1 Traverse  
D 4 Boulons M10 x 1,5mm x 35,  rondelles frein et grandes rondelles plates (Ø 40mm) 
E        1        Plaque électrique ZEP35 (non illustrée) 
CB 2 Boulons d'accouplement M16 x 50mm, écrous, rondelles frein 

MONTAGE 

 
1. Enlever le pare-chocs (4 vis sur le bord inférieur, 2 vis en dessous du groupe d'éclairage (enlevez les blocs), 1 vis et 3 vis 

de passage de roue Retirer la poutre intérieure du pare-chocs et la remettre au client. (réinstaller les boulons sur le 
panneau arrière) 

2. Insérer la traverse (A) à l'intérieur du châssis et fixer sans serrer aux fixations latérales existantes (enlever le ruban 
recouvrant les trous) en utilisant les boulons (D) avec les rondelles plates. Resserrer complètement les boulons. 

3. Repérer le centre du pare-chocs et coupez comme illustré ci-dessous.  
4. Remonter le pare-chocs, 
 

Remarque : Cet attelage doit être utilisé avec une boule de remorquage Witter (référence produit Z11) ou une boule de 
remorquage Classe A50-1 ou A50-X se conformant dimensionnellement à A50-1 avec une valeur ‘D’ et 'S' supérieure ou 
égale à celle de l’attelage. 

Veuillez vous reporter aux données techniques du véhicule pour les limites de masse et du poids tractable admis sur la 
boule, lesquelles sont à observer. 
Couples de serrage recommandés : M10 - 53 Nm, M16 - 214 Nm 
 
 
 
 

 

Witter-towbars           Support technique    Numéro Vert : 0 805 102 860 Edition 1 

 

 µW0001SK22A-FIT$011103170000OÄ
W0001SK22A-FIT$011103170000

Coupe de 
pare-chocs 
3/5 portes 

Coupe de 
pare-chocs 
Break 

Ligne médiane de pare-chocs 
Bord 
inférieur du 
pare-chocs 

Break 

3/5 portes 

Break 

3/5 portes 


